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Attempt any Five questions.
All questions carry equal marks.
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1. Define Productivity. What factors influence industrial

productivity? Suggests measures for improving it. 15
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Explain the aim of production plannir_ig for small business

firm. What prerequisites are necessary to make PPC

(Production Planning and Control) truly integrative?
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Write short notes on any.fwo of the following : 15

(a) Relative suitability of functional and divisional

. structures+for a small business.

' (b) Managerial roles and functions in 4 small business

enterprises. Discuss.

(¢) Role of nén-financial incentives in employee

motivation in small business.

(d) Characteristics of small business finance.
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State the difference between Trial Balance and

Balance’ Sheeét.” 5

'From the”following particulars, prepare a Bank

Reconciliation Statement for Mr. Ram as on 31st

December, 2010 : 10

(#) Bank Balance as per Cash Book ¥ 6,000 (Debit
bélan‘ce)

(if) Cheques issued but not presented % 3,000

(i) Cheques deposited” but not cledited by the
. bank ¥ 2,000 -

(iv) Cheque directly paid -by.a ‘debtor in the

bank ¥ '1,000

(v} Interest on deposit credited in Pass Book but

not recorded in Cash Book
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{viy Checjue received from Sheila was deposited but

dishonoured
(vii) Bank charges‘as_ per Pass Book ¥ 100.
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(a) Leasing has grown as a way of financing.
Explain. _ _ ‘ 7
(b) What do you miean by fand flowstatement? State
the basis of preparing these st:;ltement's‘.'T * 8
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What are limitations of gfowth for small business
enterprise? Discuss internal growth as an alternate growth
option. - - 15
Y FEEE T & wgfe w w g9t ¥? wafy
fapey & & g foeey & I W oARw Wl
#1 fa@= =it

Or (3144

Briefly explain documents that are needed to export

goods.
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(6)
State the difference between recruitment and selection.
Explain the common problems faced by small ‘scale

industries to rétdin its employees. 15
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{a) State the.bases of market segmentation.
(b) Understanding consumer behaviour motives.
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